3anstue Ne20. lonosiHeHusI K TeMe HEpaBeHCTBA.

Pemurs cucTeMbl HEPaBCHCTB:

1 <43 H(x2- 7x+12)2 <0
D ] ; 2) ) 3
e il +20-1F 2400

Pemints HepaBeHcTBa:

1) x*-5x+4<0;

2) x*+4x*-45<0;

3) (2 +1)- 12062 +1)+20 20 ;

4) (P2 +3x+17 535

5) (¥ +3x-120x? +3x-10)<-120 ;

6) x-9Jx+14 <0 ;

I[OMaIIIHee 3aJlaHHuE:

Pemuth cucremMsbl HEPaABCHCTB:

1 <o 2015 <0
DI ; 2) | : ;
3 <ib 1 441 <00

Pemnts HepaBeHcTBa:

1) x*-13x>+36>0;

2)  x*-2x*- 48 <0 ;

3) (x2-5"-100x?-5)-11<0;

4)  (x?- 4x) +5(x-2)* 520 ;

5) (x*- 4x-150x7 - 4x+10)<-150 ;

6) x-8J/x+15=0 ;



